

2021 MIAMI COUNTY BRIDGE PACKAGE BID TABULATION

Tuesday, November 30, 2021 at 9:05 AM

						Brumbaugh Co	onstruction, Inc.	Precise Pile Driving Inc.		Sunesis Construction Co.		
					ENGINEER'S	S ESTIMATE	3520 St. Rt. 49, PO Box 309		1140 Fort Recovery Minster Rd		2610 Crescentville Road	
							Arcanum, Ohio 45304		Fort Recovery, Ohio 45846		West Chester, Ohio 45069	
ITEM	ITEM NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	PETERSON ROAD BRIDGE NO. 05.66 (MIA-CR16-05.66)											
		ROADWAY										
1	201	CLEARING AND GRUBBING	1	LS	\$5,000.00	\$5,000.00	\$3,344.00	\$3,344.00	\$1,000.00	\$1,000.00	\$7,000.00	\$7,000.00
2	202	PAVEMENT REMOVED	127	SY	\$12.50	\$1,587.50	\$10.00	\$1,270.00	\$5.00	\$635.00	\$20.00	\$2,540.00
3	202	GUARDRAIL REMOVED	404	FT	\$2.75	\$1,111.00	\$2.00	\$808.00	\$2.00	\$808.00	\$3.00	\$1,212.00
4	204	SUBGRADE COMPACTION	184	SY	\$2.50	\$460.00	\$1.00	\$184.00	\$1.50	\$276.00	\$4.00	\$736.00
5	301	ASPHALT CONCRETE BASE, PG64-22	17	CY	\$300.00	\$5,100.00	\$322.00	\$5,474.00	\$310.00	\$5,270.00	\$302.00	\$5,134.00
6	304	AGGREGATE BASE	30	CY	\$76.00	\$2,280.00	\$55.00	\$1,650.00	\$25.00	\$750.00	\$93.00	\$2,790.00
7	407	TACK COAT	16	GAL	\$2.51	\$40.16	\$20.00	\$320.00	\$20.00	\$320.00	\$1.00	\$16.00
		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,										
8	441	(448), PG 64-22	6	CY	\$300.00	\$1,800.00	\$333.00	\$1,998.00	\$320.00	\$1,920.00	\$302.00	\$1,812.00
		ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE										
9		2, (448), PG 64-22	8	CY	\$300.00	\$2,400.00	\$333.00	\$2,664.00	\$320.00	\$2,560.00	\$296.00	\$2,368.00
10		GUARDRAIL, TYPE MGS WITH LONG POSTS	275	FT	\$20.00	\$5,500.00	\$25.00	\$6,875.00	\$24.40	\$6,710.00	\$33.00	\$9,075.00
11		ANCHOR ASSEMBLY, MGS TYPE A	4	EA	\$1,200.00	\$4,800.00	\$1,550.00	\$6,200.00	\$1,465.00	\$5,860.00	\$2,989.00	\$11,956.00
12	606	BRIDGE TERMINAL ASSEMBLY, TYPE 1	4	EA	\$1,550.00	\$6,200.00	\$2,500.00	\$10,000.00	\$2,675.00	\$10,700.00	\$2,517.00	\$10,068.00
		FENCE, MICS; LIVESTOCK FENCE, TO COORDINATE										
13	607	WITH PROPERTY OWNER	130	FT	\$25.00	\$3,250.00	\$26.00	\$3,380.00	\$28.50	\$3,705.00	\$34.00	\$4,420.00
14	626	BARRIER REFLECTOR, TYPE 1, BIDIRECTIONAL	16	EA	\$10.00	\$160.00	\$8.00	\$128.00	\$8.00	\$128.00	\$15.00	\$240.00
15	-	EDGE LINE, 4", TYPE 1	0.05	MILE	\$520.00	\$26.00	\$14,800.00	\$740.00	\$14,203.00	\$710.15	\$15,103.80	\$755.19
16	642	CENTER LINE, TYPE 1	0.03	MILE	\$800.00	\$24.00	\$34,600.00	\$1,038.00	\$33,162.00	\$994.86	\$30,207.67	\$906.23
17	659	TOPSOIL	11	CY	\$125.00	\$1,375.00	\$40.00	\$440.00	\$50.00	\$550.00	\$35.00	\$385.00
18	000	SEEDING AND MULCHING	92	SY	\$11.00	\$1,012.00	\$7.00	\$644.00	\$3.00	\$276.00	\$5.00	\$460.00
19		REPAIR SEEDING AND MULCHING	5	SY	\$2.50	\$12.50	\$2.00	\$10.00	\$1.00	\$5.00	\$1.00	\$5.00
20	659	INTER-SEEDING	5	SY	\$3.00	\$15.00	\$2.00	\$10.00	\$0.01	\$0.05	\$1.00	\$5.00
21	659	COMMERCIAL FERTILIZER	0.01	TON	\$1,200.00	\$12.00	\$600.00	\$6.00	\$500.00	\$5.00	\$503.00	\$5.03
22	659	LIME	0.02	ACRE	\$100.00	\$2.00	\$100.00	\$2.00	\$200.00	\$4.00	\$201.50	\$4.03
23	659	WATER	0.55	MGAL	\$8.00	\$4.40	\$1.00	\$0.55	\$100.00	\$55.00	\$10.00	\$5.50
		STRUCTURE										
24		STRUCTURE REMOVED, OVER 20' SPAN	1	LS	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$23,288.00	\$23,288.00
25	202	WEARING COURSE REMOVED	142	SY	\$13.25	\$1,881.50	\$8.00	\$1,136.00	\$5.00	\$710.00	\$29.00	\$4,118.00

11/30/2021 Page 1 of 4

			ENGINEER'S ESTIMATE		Brumbaugh Construction, Inc. 3520 St. Rt. 49, PO Box 309 Arcanum, Ohio 45304		Precise Pile Driving Inc. 1140 Fort Recovery Minster Rd Fort Recovery, Ohio 45846		Sunesis Construction Co. 2610 Crescentville Road West Chester, Ohio 45069			
ITEM	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
26	407	TACK COAT	21	GAL	\$2.50	\$52.50	\$20.00	\$420.00	\$20.00	\$420.00	\$11.00	\$231.00
-		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,			400000	4 - 400 00	****	4-00/00	****	4- 440 00	4400.00	** ***
27		(448), PG 64-22 COFFERDAMS AND EXCAVATION BRACING	17	CY	\$300.00	\$5,100.00	\$333.00	: 1	\$320.00	\$5,440.00	\$199.00	\$3,383.00
28			1	LS	\$10,000.00	\$10,000.00	\$3,000.00		\$6,000.00	\$6,000.00	\$272,400.00	\$272,400.00
29		UNCLASSIFIED EXCAVATION	1	LS	\$50,000.00	\$50,000.00	\$15,000.00		\$2,500.00	\$2,500.00	\$55,880.00	\$55,880.00
30		PILE DRIVING EQUIPMENT MOBILIZATION	1	LS	\$15,000.00	\$15,000.00	\$15,000.00		\$39,000.00	\$39,000.00	\$12,722.00	\$12,722.00
31		STEEL PILES HP12X53, FURNISHED	1,350	FT	\$35.00	\$47,250.00	\$42.00	\$56,700.00	\$40.00	\$54,000.00	\$50.00	\$67,500.00
32		STEEL PILES HP12X53, DRIVEN	1,170	FT	\$6.00	\$7,020.00	\$5.00		\$2.00	\$2,340.00	\$21.00	\$24,570.00
33	•••	STEEL POINTS OR SHOES	36	EA	\$100.00	\$3,600.00	\$135.00		\$100.00	\$3,600.00	\$122.00	\$4,392.00
34		EPOXY COATED REINFORCING STEEL	26,744	LB	\$1.50	\$40,116.00	\$1.75	\$46,802.00	\$1.00	\$26,744.00	\$1.00	\$26,744.00
35	511	CLASS QC2 CONCRETE, SUPERSTRUCTURE	6	CY	\$1,500.00	\$9,000.00	\$450.00	\$2,700.00	\$593.25	\$3,559.50	\$1,119.00	\$6,714.00
36		CLASS QC1 CONCRETE, ABUTMENT INCLUDING FOOTING	236	CY	\$460.00	\$108,560.00	\$368.00	\$86,848.00	\$593.25	\$140,007.00	\$564.00	\$133,104.00
		SEALING OF CONCRETE SURFACES (EPOXY-										
37		URETHANE)	169	SY	\$37.50	\$6,337.50	\$12.00	\$2,028.00	\$20.00	\$3,380.00	\$41.00	\$6,929.00
38	512	TYPE 3 WATERPROOFING	187	SY	\$32.00	\$5,984.00	\$34.00	\$6,358.00	\$30.00	\$5,610.00	\$32.00	\$5,984.00
39		PRESTRESSED CONCRETE NON-COMPOSITE BOX BEAM BRIDGE MEMBERS, LEVEL 1, B21-48	7	EA	\$13,000.00	\$91,000.00	\$15,000.00	\$105,000.00	\$14,360.00	\$100,520.00	\$19,174.00	\$134,218.00
40		2" PREFORMED EXPANSION JOINT FILLER	26	SF	\$10.00	\$260.00	\$4.00	\$104.00	\$3.00	\$78.00	\$6.00	\$156.00
41		SEMI-INTEGRAL ABUTMENT EXPANSION JOINT SEAL	70	FT	\$30.00	\$2,100.00	\$24.00	\$1,680.00	\$28.00	\$1,960.00	\$76.00	\$5,320.00
41			70	Г	φ30.00	φ2,100.00	Ψ24.00	\$1,000.00	φ20.00	\$1,900.00	φ10.00	φυ,υ20.00
42	516	ELASTOMERIC BEARING WITH INTERNAL LAMINATES ONLY (NEOPRENE)	28	EA	\$210.00	\$5,880.00	\$145.00		\$118.00	\$3,304.00	\$184.00	\$5,152.00
43		RAILING (TWIN STEEL TUBE)	124	FT	\$130.00	\$16,120.00	\$229.00	\$28,396.00	\$223.50	\$27,714.00	\$249.00	\$30,876.00
44		POROUS BACKFILL WITH GEOTEXTILE FABRIC	51	CY	\$100.00	\$5,100.00	\$50.00	\$2,550.00	\$50.00	\$2,550.00	\$83.00	\$4,233.00
45		SPECIAL - STEEL DRIP STRIP	137	FT	\$11.00	\$1,507.00	\$10.00	\$1,370.00	\$12.00	\$1,644.00	\$18.00	\$2,466.00
46	518	6" PERFORATED CORRUGATED PLASTIC PIPE	102	FT	\$6.50	\$663.00	\$5.00	\$510.00	\$10.00	\$1,020.00	\$4.00	\$408.00
47		6" NON-PERFORATED CORRUGATED PLASTIC PIPE, INCLUDING SPECIAL S	40	FT	\$7.25	\$290.00	\$5.00	\$200.00	\$10.00	\$400.00	\$17.00	\$680.00
48	601	ROCK CHANNEL PROTECTION, TYPE B, WITH FILTER	117	CY	\$85.50	\$10,003.50	\$70.00	\$8,190.00	\$40.00	\$4,680.00	\$109.00	\$12,753.00
49		POLYMER MODIFIED ASPHALT EXPANSION JOINT SYSTEM	24	CF	\$325.00	\$7,800.00	\$375.00		\$250.00		\$570.00	
		INCIDENTALS										
50	614	MAINTAINING TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$5,562.00	\$5,562.00
51	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	1	LS	\$2,500.00	\$2,500.00	\$2,500.00		\$2,500.00	\$2,500.00	\$3,977.00	\$3,977.00
52	624	MOBILIZATION	1	LS	\$5,000.00	\$7,203.44	\$10,294.00		\$41,000.00	·	\$25,856.00	\$25,856.00

11/30/2021 Page 2 of 4

					ENGINEER'S ESTIMATE		Brumbaugh Construction, Inc. 3520 St. Rt. 49, PO Box 309 Arcanum, Ohio 45304		Precise Pile Driving Inc. 1140 Fort Recovery Minster Rd Fort Recovery, Ohio 45846		Sunesis Construction Co. 2610 Crescentville Road West Chester, Ohio 45069	
ITEM	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
		SUB-TOTALS:				\$545,000.00		\$489,152.55		\$542,422.56		\$955,193.98
LC						DGE NO. 04.51	(MIA-CR17-04.5	1)				
		ROADWAY										
53	201	CLEARING AND GRUBBING	1	LS	\$5,000.00	\$5,000.00	\$1,704.98	\$1,704.98	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00
54	202	PAVEMENT REMOVED	100	SY	\$12.50	\$1,250.00	\$10.00	\$1,000.00	\$5.00	\$500.00	\$19.00	\$1,900.00
55	202	GUARDRAIL REMOVED	465	FT	\$2.75	\$1,278.75	\$2.00	\$930.00	\$2.00	\$930.00	\$3.00	\$1,395.00
56	204	SUBGRADE COMPACTION	154	SY	\$2.50	\$385.00	\$1.00	\$154.00	\$1.50	\$231.00	\$6.00	\$924.00
57		ASPHALT CONCRETE BASE, PG64-22	14	CY	\$300.00	\$4,200.00	\$322.00	\$4,508.00	\$310.00	\$4,340.00	\$232.00	\$3,248.00
58		AGGREGATE BASE	26	CY	\$76.00	\$1,976.00	\$55.00	\$1,430.00	\$25.00	\$650.00	\$79.00	\$2,054.00
59	407	TACK COAT	14	GAL	\$2.50	\$35.00	\$20.00	\$280.00	\$20.00	\$280.00	\$1.00	\$14.00
60		ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG 64-22	5	CY	\$300.00	\$1,500.00	\$333.00	\$1,665.00	\$320.00	\$1,600.00	\$327.00	\$1,635.00
		ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE										
61	441	2, (448), PG 64-22	6	CY	\$300.00	\$1,800.00	\$333.00	\$1,998.00	\$320.00	\$1,920.00	\$156.00	\$936.00
62		GUARDRAIL, TYPE MGS WITH LONG POSTS	275	FT	\$20.00	\$5,500.00	\$25.00	\$6,875.00	\$24.40	\$6,710.00	\$33.00	\$9,075.00
63	606	ANCHOR ASSEMBLY, MGS TYPE A	4	EA	\$1,200.00	\$4,800.00	\$1,550.00	\$6,200.00	\$1,465.00	\$5,860.00	\$2,989.00	\$11,956.00
64	606	BRIDGE TERMINAL ASSEMBLY, TYPE 1	4	EA	\$1,550.00	\$6,200.00	\$2,500.00	\$10,000.00	\$2,675.00	\$10,700.00	\$2,517.00	\$10,068.00
65	626	BARRIER REFLECTOR, TYPE 1, BIDIRECTIONAL	16	EA	\$10.00	\$160.00	\$8.00	\$128.00	\$8.50	\$136.00	\$15.00	\$240.00
66	642	EDGE LINE, 4", TYPE 1	0.05	MILE	\$520.00	\$26.00	\$14,800.00	\$740.00	\$14,203.00	\$710.15	\$15,103.80	\$755.19
67	642	CENTER LINE, TYPE 1	0.03	MILE	\$800.00	\$24.00	\$34,600.00	\$1,038.00	\$33,162.00	\$994.86	\$30,207.67	\$906.23
68	659		9	CY	\$125.00	\$1,125.00	\$40.00	\$360.00	\$50.00	\$450.00	\$21.00	\$189.00
69	659	SEEDING AND MULCHING	80	SY	\$11.00	\$880.00	\$7.00	\$560.00	\$3.00	\$240.00	\$3.00	\$240.00
70	659	REPAIR SEEDING AND MULCHING	4	SY	\$2.50	\$10.00	\$2.00	\$8.00	\$1.00	\$4.00	\$1.00	\$4.00
71	659	INTER-SEEDING	4	SY	\$3.00	\$12.00	\$2.00	\$8.00	\$0.01	\$0.04	\$1.00	\$4.00
72	659	COMMERCIAL FERTILIZER	0.01	TON	\$1,200.00	\$12.00	\$600.00	\$6.00	\$500.00	\$5.00	\$503.00	\$5.03
73	659	LIME	0.02	ACRE	\$100.00	\$2.00	\$100.00	\$2.00	\$200.00	\$4.00	\$333.00	\$6.66
74	659	WATER	0.47	MGAL	\$8.00	\$3.76	\$1.00	\$0.47	\$1.00	\$0.47	\$10.00	\$4.70
		STRUCTURE										
75	-	STRUCTURE REMOVED, OVER 20' SPAN	1	LS	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$18,335.00	\$18,335.00
76	202	WEARING COURSE REMOVED	142	SY	\$13.25	\$1,881.50	\$8.00	\$1,136.00	\$5.00	\$710.00	\$10.00	\$1,420.00
77	407	TACK COAT	21	GAL	\$2.50	\$52.50	\$20.00	\$420.00	\$20.00	\$420.00	\$1.00	\$21.00
		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,										
78		(448), PG 64-22	19	CY	\$300.00	\$5,700.00	\$333.00	\$6,327.00	\$320.00	\$6,080.00	\$327.00	\$6,213.00
79		COFFERDAMS AND EXCAVATION BRACING	1	LS	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00	\$203,676.00	\$203,676.00
80		UNCLASSIFIED EXCAVATION	1	LS	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00	\$55,700.00	\$55,700.00
81	505	PILE DRIVING EQUIPMENT MOBILIZATION	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$47,000.00	\$47,000.00	\$13,157.00	\$13,157.00

11/30/2021 Page 3 of 4

				ENGINEER'S ESTIMATE		Brumbaugh Construction, Inc. 3520 St. Rt. 49, PO Box 309 Arcanum, Ohio 45304		Precise Pile Driving Inc. 1140 Fort Recovery Minster Rd Fort Recovery, Ohio 45846		Sunesis Construction Co. 2610 Crescentville Road West Chester, Ohio 45069		
ITEM	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
		12" CAST-IN-PLACE REINFORCED CONCRETE PILES,										
82	001	DRIVEN	1,560	FT	\$12.00	\$18,720.00	\$5.00	\$7,800.00	\$2.00	\$3,120.00	\$23.00	\$35,880.00
		12" CAST-IN-PLACE REINFORCED CONCRETE PILES,										
83	•••	FURNISHED	1,755	FT	\$32.00	\$56,160.00	\$71.00		\$70.40	, .,	\$97.00	\$170,235.00
84		EPOXY COATED REINFORCING STEEL	18,200	LB	\$1.50	\$27,300.00	\$1.75	\$31,850.00	\$1.00	\$18,200.00	\$2.00	\$36,400.00
85		CLASS QC2 CONCRETE, SUPERSTRUCTURE	6	CY	\$1,500.00	\$9,000.00	\$450.00	\$2,700.00	\$593.25	\$3,559.50	\$1,119.00	\$6,714.00
86		CLASS QC1 CONCRETE, ABUTMENT INCLUDING FOOTING	212	CY	\$460.00	\$97,520.00	\$370.00	\$78,440.00	\$593.25	\$125,769.00	\$560.00	\$118,720.00
87	512	SEALING OF CONCRETE SURFACES (EPOXY- URETHANE)	165	SY	\$37.50	\$6,187.50	\$12.00	\$1,980.00	\$20.00	\$3,300.00	\$28.00	\$4,620.00
88	512	TYPE 3 WATERPROOFING	187	SY	\$32.00	\$5,984.00	\$34.00	\$6,358.00	\$30.00	\$5,610.00	\$35.00	\$6,545.00
89	515	PRESTRESSED CONCRETE NON-COMPOSITE BOX BEAM BRIDGE MEMBERS, LEVEL 1, B21-48	7	EA	\$13,000.00	\$91,000.00	\$15,000.00	\$105,000.00	\$14,360.00	\$100,520.00	\$19,173.00	\$134,211.00
90		2" PREFORMED EXPANSION JOINT FILLER	26	SF	\$10.00	\$260.00	\$4.00	\$104.00	\$3.00	\$78.00	\$6.00	\$156.00
91	516	SEMI-INTEGRAL ABUTMENT EXPANSION JOINT SEAL	78	FT	\$30.00	\$2,340.00	\$24.00	\$1,872.00	\$28.00	\$2,184.00	\$74.00	\$5,772.00
92		ELASTOMERIC BEARING WITH INTERNAL LAMINATES ONLY (NEOPRENE)	28	EA	\$225.00	\$6,300.00	\$145.00	\$4,060.00	\$118.00	\$3,304.00	\$184.00	\$5,152.00
93		RAILING (TWIN STEEL TUBE)	124	FT	\$130.00	\$16,120.00	\$229.00	\$28,396.00	\$223.50	\$27,714.00	\$249.00	\$30,876.00
94	518	POROUS BACKFILL WITH GEOTEXTILE FABRIC	66	CY	\$100.00	\$6,600.00	\$50.00	\$3,300.00	\$50.00	\$3,300.00	\$82.00	\$5,412.00
95		SPECIAL - STEEL DRIP STRIP	137	FT	\$11.00	\$1,507.00	\$10.00	\$1,370.00	\$12.00	\$1,644.00	\$18.00	\$2,466.00
96	518	6" PERFORATED CORRUGATED PLASTIC PIPE	114	FT	\$6.50	\$741.00	\$5.00	\$570.00	\$10.00	\$1,140.00	\$3.00	\$342.00
97		6" NON-PERFORATED CORRUGATED PLASTIC PIPE, INCLUDING SPECIAL S	57	FT	\$7.25	\$413.25	\$5.00	\$285.00	\$10.00	\$570.00	\$15.00	\$855.00
98		DYNAMIC LOAD TESTING	1	EA	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$5,282.00	\$5,282.00
99	601	ROCK CHANNEL PROTECTION, TYPE B, WITH FILTER	126	CY	\$85.50	\$10,773.00	\$70.00	\$8,820.00	\$40.00	\$5,040.00	\$106.00	\$13,356.00
100		POLYMER MODIFIED ASPHALT EXPANSION JOINT SYSTEM	24	CF	\$325.00	\$7,800.00	\$375.00	\$9,000.00	\$250.00	\$6,000.00	\$570.00	\$13,680.00
		INCIDENTALS										
101		MAINTAINING TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$5,562.00	\$5,562.00
102		CONSTRUCTION LAYOUT STAKES AND SURVEYING	1	LS	\$2,500.00	\$2,500.00	\$2,500.00		\$2,500.00	\$2,500.00	\$3,977.00	\$3,977.00
103	624	MOBILIZATION	1	LS	\$5,000.00	\$6,960.74	\$10,222.00		\$41,000.00	\$41,000.00	\$69,212.00	\$69,212.00
		SUB-TOTALS:		\$540,000.0			\$528,460.45		\$594,580.02			\$1,027,006.81
		GRAND TOTALS:				\$1,085,000.00 \$1,017,613.00				\$1,137,002.58	\$1,982,200.79	

11/30/2021 Page 4 of 4